SAR eval uati on
FCC | D. 2AACS- | NF321

MPE Cal cul ati on Met hod
E(Vm = (30*P*G ©°5/d
Power Density: Pd (WnR) = E% 377

E = Electric Field (Vm
P = Peak RF output Power (W
G = EUT Antenna nuneric gain (nuneric)

d = Separation distance between radi ator and human body (m

The fornmula can be changed to
Pd = (30*P*G [/ (377*d?

Fromt he peak EUT RF out put power, t he m ni numnobi |l e separati on di st ance,

d=0.2m as well

as the gain of the used antenna, the RF power density can be obtai ned.

Cal cul ated WFI Result and Limt (WORSE CASE | S AS BELOW

Ant enna Peak Qut put Power Density Limt of Power Test
Gai n Power (mWy (S) (mMVcnR) Density (S) Resul t
(Nureri c) (MW cnR)
4. 40 87.90 0. 0482 1 Conpi | es
(2. 754dBi ) (19. 44dBm

Not e:
Antenna Gain: 1.39dBi (2.4G Band)
Assenbly Antenna Gai n: 4. 40dBi

Assenbly Antenna Gain (Nuneric): 2.754dBi

ERP=19. 44+4. 40- 2. 15=21. 69dBn( 147. 57mN

WFI 2.4G band and 5G band cannot transmt Sinultaneously

Cal cul ated Bluetooth Result and Limt (WORSE CASE IS AS BELOW

eirp = pt x gt = (EXd)? 30
wher e:
pt = transmitter output power in watts,

gt = nuneric gain of the transmtting antenna (unitless),
E = electric field strength in Vim ---  10((dBuv/m/20)/ 106

d = neasurenent distance in neters (n)---3m
So pt = (EXd)?/ (30 x gt)




Ant gain =1.39dBi so Ant nuneric gain= 1.377

Field strength =93. 87dBuV/ m @m@440Mz

So Pt={[10(%387/20)/ 106 x3]2/(30x1.377)}x1000 mW = 0.5311mW

Antenna Gain Peak Qut put Power Density |Limt of Power | Test
(Nureri c) Power (mWy (S) (mMNVcnR) Density (S) Resul t
(MmN cnR)
1.39 (1.377dBi ) 0.5311 0. 00015 1 Conpi | es
(-2.75dBm
Not e:

Antenna Gain: 1.39dBi (2.4G Band)

Assenbly Antenna Gain (Nuneric): 1.377dBi
ERP=-2.75-2. 15=-4. 90 dBn{ 0. 32nmW

BT BDR/ EDR and BLE cannot transmt Sinultaneously
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0. 02887+0. 04833+0. 04835=0. 12555<1




